(LR
E&

A TERBRAERA =4 —H o AL H WSR2 A5 5
HARAE

i b S At B AR SCH. At 5 6 e 9 S BR AR B A 2wl R R EAh > AR 2 B AR
TEREERA =+ — N LN &5 R R LB T A ~ RATIE ST - R s s
WU IH ~ RS (— R 5 BARRRAD) ~ RS - 05 - 1ide - 10 - SR S
HRYE ~ R A R SIR B AR -
REEH

BEARIER I = - SR O AR T AT = B S R A AR 2
{5 Mo -

EROHER  BREUTHEES > A FFFEILA =+ il AEEFINE LA
Z AR VA BB AR B AR AT ] K AR ) o

/)lbﬁlﬁf > Eﬂ’ﬁﬁ/ﬁ&ﬁﬁ%ﬁ

EERBRITHE

ATRBERETA =+ —H > A 80 R A 2 AT 8 S SR AT A5 SR .

=

RBEERME

P CEEBEFRAH =+ —H o AEE KRB E R EEFEA F5,200,000476 © £
KF B EFE G ILA{E21,300,0004 7T o A S8FAZ B A & Q)-S5 3E4) £516,100,000% 96 ©

BEAREE
R CERTFEAA = —H o AEE L REEEEEFHA £10,600,0004 56 - GLFE E

TEEFEX1,700,0008 70 ~ $ETEH1,600,00085 70 K& i B & & T 495,200,000 0 MBI &
7E A 472,100,0004% TG ©

—90_



Gk

TXAALEEBE —FFFE A =4 — IR 2 G 0F ERME o IR 4%
SR o ] o] 30 [ ) A S P 2 B R — A TE S AT A o I R B R A 4 R
FEM 8% — Z erwt bl —F &R -

HE=ZA=1+—HLEE
—NnhhE Z—ZZBEEEF

F & FH T
JRE P kA 29,836 33,800
18 e 55 7,359 10,777
o 1,213 179
EXEAT 38,408 44,756
EF 33,291 39,079
BR % Al % Al 11,879 18,954
BI1R (1,962) (2,760)
B i 1% 0% A 9,917 16,194
BREF (W) 2.071l 3.371ll
BE 20,000 11,070

Wi AXBEINEE-NNANER FFRE=A=1+— 0 LW EEE 2 S REMN (EHfs%)
Ty R PR % A AT BEBR B AR I A J BB A 2 %8 47 2 480,000,000 IR i wHE. o

=

NE AR A0 IR A 2 s A IR E R - MR R RES
HZ=4—H kW 4E R > A4 #5407l 3% 15 438,400,000 %% G M 44,800,0004% 76 2 & 1F 54 %
Bo AEEMEE BEZE=ZH =1+ H I mAEAE R 22 4R 4 B A 479,900,0004 56 &
16,200,000%5 G °

BE-NWAAF=Z=A=+—HLWBEE

WE—IIUVFE=H =+—HILFE » RERERE & EFHL £38,400,0004 00 » F 5
A A i 7 Uk S B 8 B FlexAccount/E i MR AEAEE RS » 454 > A4 EHE H FlexAccount i
WEMARR A > LA BiIg A B N 2 858 o BRI 4403£33,300,000% 70

—91—



AHE AR 4186.7% o WHE AR B R ETEHAARER L EBHE R CHBEZE
FH WA B % 2 5 R AS R 2 T R B o A B HL A BT B 8 TR I A R B 0T 2 B A 0 A AR T
T AE A A A B B8 Soma* AT o A 48 3] A A 4F B 3 A5 41 R0 499,900,000 7T - Ak 4l R 2 4
95.8% o

BE_EEERF-A=+-RLUBFE

@i FETAFEZH =+ —HILFRE  AREE G EEFL44,800,00045 50 » &L
16.6% 2 38 1WE o B A FlexAccount/E f 85 E FFb » N > TEF s X B Z FlexAccountfE i
BB IR A B 25 49 11.9%5028.1% o BRI 4B 439,100,000 56 > 4l BRI R A87.3% -

R BEEAR FTF > FE T H R FlexAccount& b 2 J& 127 85 8 K il 35 HE & 36 B X 91k
e A2 B 2 M T IR AL v S o S — T > B4 AR LR F Soma* AL B 8% AT T
R o Soma*ALZ B 85 F2 ¥ B 58 BN 7 4 1A 2 74 48 18] 2 JRE P IR 5 AL e vl SE 55 T B A o

N AR B B AS AR 49 16,200,000 70 > Al BRI R £736.2% o ZEF| L FF463.6% > E
B S R LT AR R 2 B AR o

BiIH

AEBEREAFANEBE “BEEE=H =1 — H 1 W08 0 BUE B R % % B 26
HE W A TERR LG R > S A BRAE Bl - BME NN ER - BRETE=H =+
— H W ARAE B 2 BB R A £516.5% % 14.6% « B E FEFIEZH=+—HILFE>
BB RG> HTEEAAEE FREE S =+ — B kAR 2 ) R a8 B S R A AT Ak
FIE T & WA o A2 w2 & B 2 W Danfaith Limited (— R 258 B L BB M2 A q) A
TN US LA BH 88 2 7R IS R R BRI o BESR o AHE [ 2 A g ER Ay Danfaith Limited /i
T DA s H2ERS > B BN 5 > # % 2 #Danfaith Limited BT B E 2 B8 5 I AAE
T s RSB 45

R B BUR
R H AT AR E FFFE A = B AEARA RS o H%%?
IR AT BB B BUR A L A 48) A v ml 2 88 S8~ Bl il i O EGIRYL ~ 888

EEA T SR SE E%ﬁ%*%&*%&ﬁ%%mﬁ$+ H K-t HWRA ﬁ*%&%%~
JRedh 2 4F 2 B B A = r 2

—92



% B R

et

)

¥

H AT > A< 4 B A% — e ek LR R O S B — A B AN L 2 FAOIREF S 2

Ih 31k

s

JE

A 1855
51, 8% 42 B K =
148

F s

S

A 1855
5L, 8% 42 1B K =
R
EANVSE ARY
{5 HLA

s

SE 1

F A 1855
% S DN
o1E004 5% ¥ 37
s

JE

F A 1855
51, 8% 42 B K =
3ME301 58 ¥Ar

H A > A A B — e Sk A — 44 BN AL T 5108 7 s 2 3

i 3k

F s

TR AR
WA 18058
TR M AE
o=
2IMEFE

#A B
F 1A BHERE ERAmME
T (F 7 %)
B EE A 55,100 529.08
—HT+/NH
JiE TR
B EE A 6,600 A%
—H1+/NH
Ji TR
A TR E IR 7,845 64.10
+—H=+—H
JiE T
CEREEAE 12,350.50 93.37
WWH—H
B TERE AR
“H=+—H

S

£ 1A AR ZEER

B (F 5 %)

TR AR 30,000 124.95
tH—H=
TRE AR
NH=TH

_93_

M’

EE; H«( I j:%
A il &
%&%)

fEHL A

'@‘ H«( I i‘%
A il &
%&%)

EE; H«( I j:%
A il &
%&%)



& El

HAT > A 19 1) 8 5758 =7 fL R 3R i 2 ¥ 2k

b 3k F 1 A
AR, ¥
ki —JLILNAE 14,399.25
R W T—HANLHZE
QL% P 5 159958 TR EEAR
16 70 K T H/NH K
301 5302455 ¥ 07 13 S
TR B
LA =+H
g TRBTAE 800
R R NHHEHE
FE 22 Y B 1599595 TR EEAE
16 7 K A A=+ A
Hiy S 56 B- 2055 B4 FHE I &
CRERA
LA =+A
AEBINEA NIRRT 2P ¥ -
g A A5 H
BIAT I
B B 1555 5%
Kb B AR
i ]

55N E 10298 WA

P

7 A B EL R — A5 7 P 3BT 11 5 SELT I N 24 5 b B o 12 0 K S B B IR B B - Rl S I TR
A7 (L35 b i 2 A150595 5 HA) 2 35 1A 25 i 98 B B vl » SRR 412551 1°F K » 3%
LM E BB E = MAMEZENA - FEFERA T HAE - EF - F 1A

A
BRE@E
(5F 7 &)

263

40

106.34

I =

THHEMA > 54 H 55,492 M 0 K5 AF AL 48,238 Mt » AUEEHE o

] 4K 3% R 4

ATERFEFREZA = H > AR A M ARGEMSGL o B > A w R EZ H I A AT Al

IR EE T R 2 ok -

_94 _



% &a*

HEES

BTN o KERE BN [ N AR AR IR BRI 6 B AT I Ry (A L A A
JBety) 2 Aliat B A R AR o AR B R e e A L AT

SN E LB

ERAEE RERE=A =+ — BRI A R T LT AR R %
FEREZA =+ — B2 K G S A fE IR A 0 5 AL - PR I 3 5 s A 41 18 NI 40 A ]
K 2 AMIE St R B o
Bl ETHRAE1715EE17.211F

HHEMR > RREEEEAAT HI > A4 B3 AR ATT 5 O € B 8UE 2 WA ¥ b
A 17 5 E S 17,0162 27 LAY & -

KARRFEERE

PAR A ARGEA SR B — R B HAE ] =+ — HIEKEZ G 0FA T & A GROR A Kk
TRE R Bk — g wt o) AR A A SR RS IR A TR A A R R RGBT

i
AEER FERIFE=A=F+—"HZ
BEEGHALERETMHE 5,592
AEEEE EFFEAA =T HIERMEA Z
R BEFTEAZ A D B B A i A 3,260
il & LS TS A H R A OR L AR ) (mhsx1) 143,300
JAREEFEDA = — HEAGAEE Y ER S B (Wx2) 44
KO A T A E T 152,196
o i 46 5

BHEEREFHE (Hi3) 0.25%% JC

_95_



R

1. BCEE TS ROE AR AR R A R 1 .33k T (R i T (AR S 4 B 1.2 39
TLE1.33W L2 E ) MAREELEAS R 2 2 120,000,000 B £y CHE I 48 51 Kz 47 (o 168 45 B A
RN TBITZTMBN) FE - MEETHEBERRE > AAFMEINEESDE
93,000,000 7T ©

2. bl EAMAAEEY ERG BB ASAERBE —FE - F A=+ —HILFE
WA BRI o

3. HRATHEAE G E FE % Al A% 5R B K AR AR SO 600,000,000 A% 2 5847 i T
BT AR FEE (M S 5t B PR 47 (o A 8 i St AR 1 TS R P 5 1 1 9% T 2 AT o) B IR P AR

ATRERAT Z B BR B AR M R I [ A A A R R EECA T HERE
RS | — BTl 2 R AN FI AT REELEE - AT SR R T A o

BEANE

HRMERY - AL A FFFE A = H R R R T R A R i
H) RAAe > H R B8 sk 57 5 51K 0 s i 5% AN 8 B AT o] S KA | el B o

—_96_



